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3LQDVWKL�&DWHULQJ� DGDODK� XVDKD� \DQJ� EHUJHUDN� GLELGDQJ� MDVD� SHQ\HGLDDQ�PDNDQDQ� 3LQDVWKL�

PHQDZDUNDQ�EHUEDJDL�SDNHW�PHQX�PDNDQDQ�\DQJ�GLVHVXDLNDQ�GHQJDQ�NHLQJLQDQ�NRQVXPHQ��

3LQDVWKL� &DWHULQJ� EHUDGD� GL� -DODQ %ULJMHQG� 6XGLDUWR �$PEDUDZD�� .DEXSDWHQ� 6HPDUDQJ��

3LQDVWKL� &DWHULQJ� LQJLQ� PHODNXNDQ� SHQJHPEDQJDQ� XVDKD� FDWHULQJQ\D� XQWXN� PHQLQJNDWNDQ�

SHQGDSDWDQ�VHWLDS�EXODQQ\D��'DUL�KDVLO�SHQ\HEDUDQ�NXHVLRQHU�\DQJ�GLODNXNDQ�GDODP�SHQHOLWLDQ�

LQL� GLGDSDWNDQ� SDVDU� SRWHQVLDO� VHEHVDU� ���� GDUL� MXPODK� SHQGXGXN� GL� NDEXSDWHQ� VHPDUDQJ�

GHQJDQ� UHQWDQJ� XVLD� ������ WDKXQ GDQ� VWDWXV� VRVLDO� PHQHQJDK� KLQJJD� WLQJJL�� SDVDU� WHUVHGLD�

VHEHVDU� ���� GDUL� SDVDU� SRWHQVLDO�� SDVDU� VDVDUDQ� ���� GDUL� SDVDU� WHUVHGLD�� 'DQ�PHQHWDSNDQ�

������GDUL�SDVDU�VDVDUDQ�\DQJ�DGD�XQWXN�GLMDGLNDQ�SRWHQVLDO�GHPDQG��$QDOLVLV�DVSHN�WHNQLV�

GLODNXNDQ�XQWXN�PHOLKDW�SURVHV�ELVQLV��NHVLDSDQ�ORNDVL�XVDKD��OD\RXW��EDKDQ�EDNX��SHUOHQJNDSDQ�

GDQ�PHOLKDW�NHVLDSDQ�VXPEHU�GD\D�PDQXVLD�GL�3LQDVWKL�&DWHULQJ�XQWXN�PHOD\DQL�SHUPLQWDDQ�

NRQVXPHQ��3HUKLWXQJDQ�ILQDQVLDO�GLODNXNDQ�XQWXN�PHOLKDW�NHEXWXKDQ�GDQD��ELD\D�RSHUDVLRQDO��

ODED�UXJL��DUXV�NDV�GDQ�QHUDFD��'DUL�KDVLO�SHQJRODKDQ�DVSHN�ILQDQVLDO��PHQJKDVLONDQ�SDUDPHWHU�

NHOD\DNDQ�\DLWX�139�VHEHVDU��5S���������������,55�VHEHVDU������%(3�VHEHVDU��������SD[

GDQ�SD\EDFN�SHULRG�VHODPD ���� WDKXQ�
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